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EXAMPLES =il

o sach ol write the o 1
1 For each clock, write the correct time on the line pro

vided

{a)
e = (€)

Solution
(a) 7.10
(b) 10.30
{c) 130

(@) 7 giir 10 pht
(b) 10 giir 30 phat
(¢) 1 giir 30 phat

2 Bién thin gian chinh xac ciha timg chiée dong ho vao cho rong.

For each clock, write the correct time on the line provided. =
() l

fa) (b} () o
chieu sang
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(a) 12.20
(b) 345
(e} 10.10

(a) 12 gidr 20 phat
(b) 3 giir 45 phit
(e} 10 gidr 10 phat




(A} Making tens and hundreds (A) Tinh tbng 10 va 100

1 Add the numbers below by making a ten. - tna cac s dudi diy bing cich tgo tong 10
0 : i ik 10

() 3+5+7 by 4+7+6

10+ 5 10+7

15 17

(b) 4+7+6

2+d+5 (d) 2+94+8
10+4 10+ 9
14 19

d) 2+9+8
10+ 9

10
4+5+6+5% B 7+8+2+3
1 10
10+ 10 10+ 10 10+ 10

20 ) 20

+3

the numbers by making tens or hundreds. Tinh tdng cic so dudi diy bing cich tao tong 10 hogc 100,
100 160 104 100
35+ 15+ 65 (b) 45+ 55+ 20 (3) 35+15+65 (b) 45+ 55+ 20
100+ 15 100 + 20 + 15 100 + 20
115 120 120

i) ] L)

IB+22+ 16 (d) 42+ 16 + 38 3E+22 (d) 42+ 16+38

60 + 16 80+ 16 80+ 16
96 96
B & i0 (1]

M 17+13+25+35 () 15+32+48+5 N 1T+13+25+35
W0+ i) b} 30+ 60
L1} 0+ 20 a0
100
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There are many interesting mathematical problems generated from this lop;

Intervals
_EXAMPLES <y
e
1 5 matchsticks are placed at an equal d
many intervals are there?

nce away from each other. Ho

Solurion:

~ v
1= 2

There are 4 intervals.

6 knots are tied on a rope. How many intervals are there from the 1% keet
the 6* knot?
Solurion:
e
\—._\,_l

I 2

There are 5 intervals,

l.'. o r T ae .
mf! staircase has 12 steps. How many steps do 3 such staircasss
have? g
Sodurion
Ix12=135

3 such staircases have 36 steps

L
o

cu bl toan tha vi lien gu én chi dé khoang cich néy
(o rit nhigu bdi toan thu Vi lién quan den ¢ [ I 3

-

ViD

id ; b i i b hic ane cich eita 5
5 que diém duge xép cich déu nhaw, Hoi co bao nhidu khoang cich gitra

-

que diém do?

Cach gia:

i 2
Co 4 khoding cach,

Trén mit chice diy thimg cé 6 nit bude. Hoi ¢6 bao nhi¢u khoang cach tir
niit bude diw tién dén niit bude thir sau?

Cach giai
et . e
paEEs D e —r—

-
| T 3 =

3 4 d
Cd 5 khoang cich.

1

Mai ciu thang ¢6 12 bic thang. Hoi 3 chiée cau thang s& ¢ [l;‘“E' cfng bao
nhigu bic thang?
Cach gidi:

3x12=136

Mhar vity, 3 ciu thang co 36 bie thang.




By comparison,

| pear » 2 Kiwi fruit

| kiwi fruit » 4 strawberries
2 kiwi fruit » 8 strawberries

1 pear + 8 strawberries

8 chicks

H BANG Puufﬂns'-rl-uir
HAY. THE

5o sanh, ta thay
lé = 2 qua kiwi
qui kiwi
2 qua kiwi
Vi | qua lé

cach so sdnh, ta thiy
| con 2 con tho

3 con meéo = & con thd

3 con thd = 4 con gi

6 con tho = 8 con ga

3 con méo = 8 cor
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What comes next in each of the following patterms? Hinh tiég theo 13 hinh nao? ; .
] = gE o bk he w0 quy 1ic cia diy.
Draw and shade the 4% pattern in ey ach of the rulhm.mb ol thcue Rec oy e S
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(d)

Complete the last pattery + Hoan thinh hinh & cubi cling




T e e e e e

E AR s R EEE

-%
it
i
n
y
N
Iy
i
g
,:.“E

h
5

o

e " R
7  u
BEE AR R N N
o e
-
5 = ~
(A) Cut and Paste
1 d (b). cut along the dotted 1o make the parts into
(a) Solution:
ib) /"L Salurion
h3uszd /
| ™ |
\
I

3 l ¥y
s¢ al least 3 ways to cul the square into 2 equal pans

Cuach

e e g
3 cach dé ciit hinh vudng dudoi ddy thanh 2 phin bang nhau.

-t =

.



